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Transition Phase
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Aerobic and Anaerobic Pathways
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Lactic Acid Fermentation
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Check Your Understanding

|.True or False: When NAD+ accepts an electron from a
hydrogen it has been reduced

2.True or False: Oxygen is required to make ATP

3.True or False: Cellular respiration is considered an endergonic
reaction because it releases energy
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Check Your Understanding
3.Which of the following steps produce the most electron
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b.Transition phase

c. Krebs cycle

d. Electron transport chain
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Check Your Understanding

5.Which of the following best describes the function of the
electron transport chain?

a.Transfer electrons on to NAD* to make NADH

b. Breakdown glucose into pyruvate

c. Use energy from electrons to power the active transport
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groups to ADP




image31.png
Check Your Understanding

4. How much ATP is produced as one glucose molecule moves
through the Krebs cycle?

a. | ATP
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6.Which of the following best describes oxygens role in the
cellular respiration?
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transport chain

d. Donates a phosphate group to ATP
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Thermoregulation

Thermoregulation: Process by which animals maintain their body
temperature within a normal range

» Endothermic: body temperature maintained by
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